> A
A & 0l & AF 2 E A A
20149 S0la LA Mg
SN BHEL A
FH: NS MELds (MY - SAIG/MEHE - DE3FH)
S HeHAIZEESZ A (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZHESsa 6,696,824 6,691,071 5,753
= 1,312,090
& 900,000
J| 254,000
& 157,611
< 564,155
Al 3,508,968
ANABHELS (MY - BAIG/AHIE - DEF) 3,137,308 3,952,113 A 814,805
& 900,000
< 43,110
Al 2,194,198
e Al ESHEIHA 776,152 2,447,680 A 1,671,528
& 400,000
Al 376,152
SEANZFEMNY 29,200 35,800 A 6,600
201 £B-2dH| 19,200 20,200 A 1,000
02 =24l 19,200 20,200 A 1,000
OS&EANE HIIg 19,200
—A5A 300,000& = 123 3,600
—JI=2E 700,000& = 12& 8,400
— HIJt JHE DI 200,000 * 12& 2,400
—Bos 400,000 « 123 4,800
401 Al HIZ 201 I 10,000 15,000 A5,000
01 A& HI 10,000 15,000 A5,000
OFXEY SS0EANE RAES
10,000,000& * 14l 10,000
JIEtAIE & B A 79,952 44,880 35,072
201 Let24d] 17,280 8,880 8,400
02 =24l 17,280 8,880 8,400
OZJ SLANE & 22223 1,680
—dIIRa 70,000& = 123 840
— 4ot R3 70,000& « 12& 840
OS2AZEANE 25ZH 2323 156,600
—dIIRa 1,200,000& * 12& 14,400
SaRA el B = 100,000& * 12& 1,200
401 AIEHI L 201 25,000 36,000 A 11,000
01 A& HI 25,000 36,000 211,000
O==AE YSANE WM & MEE=S
10,000,000& * 14 10,000
OHSANEESO0EANE 252+
15,000,000& = 14l 15,000
402 RIZEX20l A 37,672 0 37,672
01 RIZEAt2E X 37,672 0 37,672




SN BHE M
Bu: NABHBLS (MY SAIY/HYVE - DE5)
A
S

Sl THeHAIESZ A (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEEEEYNIFEEE SRR CEE
19,200,000& * 14l * 66/100 12,672
OSLAE st A2
15,000,000& * 14l 15,000
OZEANE &Y A2
10,000,000& * 14l 10,000
e AIZAESUSH=) 667,000 2,000,000 A 1,333,000
& 400,000
Al 267,000
401 Al HIZ 201 Y] 667,000 2,000,000 A 1,333,000
& 400,000
Al 267,000
01 A& HI 667,000 2,000,000 A 1,333,000
OZSEANZE SZMEAY  500,000,0008 » 1A 500,000
& 300,000
Al 200,000
OAMAHE ZSAILE LEDZHES WA
167,000,000& * 14l 167,000
& 100,000
Al 67,000
THeHAIE & XFBIN&-35t 16,330 13,360 2,970
ZENH & THeHAIE 2435t 16,330 13,360 2,970
201 L2l 7,490 5,000 2,490
01 At 22l 7,490 5,000 2,490
OaNch ZMNEE & dSANY 2dst 228
&0l 100& = 5,00004 * 28 23| 2,000
OXSANE HEI| Fut2L M
2,700& = 1,5000H 4,050
OESAE 2435t =2 M
60,000& = 120 + 23] 1,440
203 R =&t 5,000 5,000 0
03 AIMF=XH R =ZH| 5,000 5,000 0
OXSZEH gd3 d2F4
5,000,000& * 14 5,000
301 et d = 3,840 3,360 480
09 HALAHIE& S 3,840 3,360 480
OFSAZE 43 &&s - A3 - E23 &
Jt 0,000& = 6H * 2& * 43 3,840
aHcl ENMEE 92,626 111,373 N 18,747
< 14,510
Al 78,116
=2l 31,260 33,030 21,770
201 £B-2dH| 16,510 18,630 A2,120
01 At 22/l 16,510 18,630 A2,120
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e NAZHMELSH (MY - SAIY/MEHE - DE3FH)
o A BHEE (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OQHdHESE 7,070
— & ESR 276,000& = 10A 2,760
— &4 HESEH 431,000& * 10A 4,310
Osotetd 2el 900
—E28s9 60,000& * 5004 * 23] 600
—S283dHR0l 100& = 1,00001 = 33l 300
OSIIHEFIRNE L ARG EHALY
70,000& = 198 « 53| 6,650
ORSMMUFHEs HMLY
70,0003 = 9H =« 33| 1,890
301 gt d= 14,400 14,400 0
1MIIEBESS 14,400 14,400 0
O2NH2UH 2F =%
50,0003 = 89  36=F 14,400
405 XHoHF S HI 350 0 350
01 AR ESFH S 350 0 350
OdsSAE & SoretdE2el CXEItolet
350,000& = 1CH 350
S A0Hel 22l 3,000 3,000 0
307 21201 A 3,000 3,000 0
05 RIZtelEt = 3,000 3,000 0
OZHHEIHR XIE ZAISE SR CHEH A HI
3,000,000& = 14 3,000
LHIAE S 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 BIHFAEXS 10,000 10,000 0
OAHI A 29 NA(BEZS 70%)
10,000,000 * 14 10,000
SN HI AR (L) 48,366 45,343 3,023
< 14,510
Al 33,856
201 -4l 14,400 0 14,400
< 4,320
Al 10,080
01 At 22l 14,400 0 14,400
OHBIIAS A ESHT ME
3,600& * 2,500% 9,000
< 2,700
Al 6,300
ORBIIHYA M YHAS
50,000& = 36 + 33 5,400
< 1,620
Al 3,780
206 M= Hl 33,966 45,343 A 11,377
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=RV
P RHAR BB (MY - FAIY/ MY

X = £-0%35)
el AN HMEEY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 10,190
Al 23,776
01 M2 4l 33,966 45,343 A 11,377
OositetEdgga XA
94,350 = 362 x 103l 33,966
< 10,190
Al 23,776
gsd & XA 2,162,900 1,334,300 828,600
& 500,000
< 18,600
Al 1,644,300
SN0 SN 1,133,700 1,114,500 19,200
201 Lt 11,000 11,000 0
01 At 22l 11,000 11,000 0
OfF=S2J/84 &I M 100,000& * 1074 1,000
Of+=32JY H3EE & JH0IE= M
5,000& = 2,0000H 10,000
306 =93 54,000 51,000 3,000
01 &= 54,000 51,000 3,000
ORMSTUBBEXE 48 JSWMELRS
=2 54,000,000 = 13l 54,000
307 21201 A 971,000 970,000 1,000
02 QB AEXS 71,000 70,000 1,000
OJIgz sSegNddH 22 XA
30,000,000& = 138l * 70/100 21,000
OYFAILAES YZHIAAEY SYX(
BxE 70%) 10,000,000 = 14l 10,000
O Jsod(Ax)28dns X
10,000,000& = 13l 10,000
OXIERHMH 2gH NA(BEXS 70%)
30,000,000& = 14l 30,000
08 OIXt2H = 900,000 900,000 0
OS2I = 0IXNEHES X2
18,000,000,000& * 5% 900,000
308 XXIEHHSOIA 82,700 67,500 15,200
05 HXSHHMURE S 82,700 67,500 15,200
O U ZWAVSAMY T4 23
82,700,000& = 14l 82,700
402 RIZ2EX20l ™ 15,000 15,000 0
01 RIZEAt 22X 15,000 15,000 0
OSA01e AL XA (EXE 70%)
15,000,000 * 14 15,000
SI|eAEL 5 165,000 177,800 A 12,800
201 L4l 45,000 30,000 15,000




SN BHE LS
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©e: JlgSy 2 X8
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X ZH
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18]
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Olon
kJ
H

ol

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 45,000 30,000 15,000
OsJ|oA g8 HE 2,000& = 5,0000H4 10,000
OEJ|elA T HME 2,000& * 5,0000H 10,000
OXSESASE deos 210 AISE
25,000,000 * 14! 25,000
402 SI2FXHE0| & 120,000 60,000 60,000
01 QI2t X2 X 120,000 60,000 60,000
OZEIIAAHAES ALY (RIS 2EHH AFY)
120,000,0008 = 14l 120,000
A SEL 2 HEXR 50,000 0 50,000
307 2Iz2to| A 50,000 0 50,000
02 It A X2 50,000 0 50,000
OXEdAD FEHAAY 1 E2AY
50,000,000& * 14! 50,000
ESAJ|YEHM(E) 42,000 42,000 0
= 12,600
Al 29,400
307 212t0| & 42,000 42,000 0
o= 12,600
Al 29,400
02 QI2tAAE X2 42,000 42,000 0
OsAJ|gel e
6,000,000 = 12 = 58.333/100 42,000
= 12,600
Al 29,400
ESAJ|GAAISAHASHI KR (L) 4,000 0 4,000
o= 2,000
Al 2,000
301 et A= 4,000 0 4,000
= 2,000
Al 2,000
06 212to1 =22 (4 4l 4,000 0 4,000
OFAJ|Y M= AR
4,400,000 * 1€ = 90.9/100 4,000
= 2,000
Al 2,000
ZJoA MAaA EIHXRA 15,000 0 15,000
307 QI2t0| & 15,000 0 15,000
04 Q2AHAIE XS 15,000 0 15,000
OZJ|0A IHEA XK (BXEES 70%)
15,000,000 = 14! 15,000
SICAME EE STHEHAXH 45,200 0 45,200
301 et A= 3,200 0 3,200




SN BHE S

pal
FH: NS MELds (MY - SAIG/MEHE - DE3FH)
©el: JlYss 2 X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 &AL HI B2 &S 3,200 0 3,200
O3J1e1Ad s2H8A HOHEA HEHA 6l 2
& 80,000& = 4% = 22 « 53| 3,200
307 glz2+0l & 42,000 0 42,000
04 QIZtHAIE XS 42,000 0 42,000
OZBJIANE 82 SHAAAMXA
60,000,000& = 13l * 70/100 42,000
GFIII0H 2 2ASAIY () 700,000 0 700,000
& 500,000
Al 200,000
402 RI2EX=20l A 700,000 0 700,000
& 500,000
Al 200,000
01 RIZEAI2E X 700,000 0 700,000
OLgZelEDIAIY XA
1,000,000,000& * 141 % 70/100 700,000
& 500,000
Al 200,000
JASCEERIILEE(S) 8,000 0 8,000
< 4,000
Al 4,000
307 gl2tol & 8,000 0 8,000
< 4,000
Al 4,000
02 QIZtFAE XS 8,000 0 8,000
OZ4=cHELIY B |
5,110,000& = 2004 = 78.27/100 8,000
< 4,000
Al 4,000
224 =Xsd 89,300 45,400 43,900
< 10,000
Al 79,300
LsXxE 22 57,000 7,400 49,600
201 Let249] 1,000 1,400 A 400
01 At 22l 1,000 1,400 A 400
OZ22Xte a1 &I XA
100,000& * 104 1,000
307 21201 A 6,000 6,000 0
02 QIZtFAE XS 6,000 6,000 0
OLs&ds 2INA(BEx8 70%)
6,000,000& = 14! 6,000
401 AIEHIZL 28I 30,000 0 30,000
01 A& HI 30,000 0 30,000
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el
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FNadsta

>
Olon
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ2X=ke2 WE =cl
30,000,000& * 14 30,000
405 RHoHF S HI 20,000 0 20,000
01 AL EZFH S 20,000 0 20,000
Od - & &d WA 20,000,000& * 14 20,000
2EXNE0IS 2RI U NS (Z) 32,300 28,000 4,300
< 10,000
Al 22,300
307 21201 A 32,300 28,000 4,300
< 10,000
Al 22,300
04 BItHAIE RS 32,300 28,000 4,300
OZ2Z2 X otsHIIts X
34,900,000 * 13| * 92.55/100 32,300
< 10,000
Al 22,300
2222 ¢ HHH(MS=ER/=S) 2,411,807 1,970,365 441,442
= 923,090
J| 254,000
& 157,611
< 304,070
Al 773,036
322 & YA 2,411,807 1,970,365 441,442
= 923,090
J| 254,000
& 157,611
< 304,070
Al 773,036
Fg 2 MNEPtE XN 6,200 6,200 0
201 et 6,200 6,200 0
01 At 22l 1,200 1,200 0
OFYEEZHE EHOIX |RXZ=H
100,000& * 128 1,200
03 &Ar2 I 5,000 5,000 0
O T7ol- 7z orgol &, HYFBereral
eS| 5,000
— S22 @Y NE - ZHISX S
5,000,000& =+ 13l 5,000
SE2EZAM(Z) 527,385 525,367 2,018
& 157,611
< 119,038
Al 250,736
101 1244 dl 516,166 513,540 2,626
& 157,611
< 119,038
Al

239,517




M AHELSA
HH: 2222 U NYAHE (NI /LE)
el BZ2E U XOHH CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
04 JI2tHIZ22NEE S 516, 166 513,540 2,626
O2222AMY 20X 22 L a2 (2H)
3,206,000 ~ 161H 516, 166
= 157,611
& 119,038
Al 239,517
201 LBt Y| 6,000 6,000 0
01 AP 22| d| 6,000 6,000 0
OZ2222ZAMY =8 294 (2H)
6,000,000& = {14l 6,000
202 04| 800 1,500 AT700
01 2L HI 800 1,500 AT700
OZ22Z2ZAIY AIEH H2H & 2UH0bI(2d)
20,0008 « 2% x 23] « 10€& 800
206 M = Hl 4,419 4,327 92
01 X2 H| 4,419 4,327 92
O2222AMY HaHI(2d)
4,419,000 = 14! 4,419
SHOXHAAI} ZNAERH(2) 1,600 4,214 N2,614
= 1,280
Al 320
301 Lt A= 1,600 4,214 N2,614
= 1,280
Al 320
01 Al E & A 462 1,600 4,214 N2,614
Os0{0l AT X
1,600,000 * 19H 1,600
= 1,280
Al 320
NE2SH LXelAr (2) 276,602 508,969 N 232,367
= 138,301
== 41,490
Al 96,811
101 124 H| 218,515 345,100 N 126,585
= 138,301
= 41,490
Al 38,724
04 JI2ZtHIZ2 2 NEES 218,515 345,100 N 126,585
OXNEZ2=sHLXeIAY EHA 2= L 4002
Sorel 3,361,760 » 659H 218,515
= 138,301
= 41,490
Al 38,724
201 gEt24y| 12,887 29,109 N 16,222
01 AP 22| H| 12,887 29,109 N 16,222




SN AR B
B 2222 2 NUNH(AS=X/CE)
Sl 322 U MYOH (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXEZ2sHLXeAYE =8 29
4,887,000 = {14l 4,887
OXEZ2sHLXeAlY HHLXHE S
8,000,000& = 1Al 8,000
202 o4l 1,600 2,200 A 600
01 2Ll 1,600 2,200 A 600
OXEZ2=sHLdReAY e L 24Atd HAE
S 242 (4 Y| 80,000& * 2% x 103/ 1,600
206 M = H| 42,600 130,000 A 87,400
01 X2 H| 42,600 130,000 A 87,400
OXEZ2=SHLRCAY HEFL
42 ,600,0008 = 14l 42,600
401 Al HIZL 2 0HY| 1,000 2,000 A 1,000
01 Al&H| 1,000 2,000 A 1,000
OXNEZB2SHUXCIAE AIEH L 20EH|
1,000,000 * 14! 1,000
HEXMAANAFTE(T) 50,000 70,000 A 20,000
== 15,000
Al 35,000
307 2Iz2t0| & 50,000 70,000 A 20,000
= 15,000
Al 35,000
02 QI2tAAE X2 50,000 70,000 A 20,000
OFEEHIX AL 50,000,000& * 14 50,000
= 15,000
Al 35,000
MEAXN A 2EXRA(Z) 166,000 166,000 0
& 33,200
Al 132,800
307 2izto| A 166,000 166,000 0
& 33,200
Al 132,800
02 It A X2 166,000 166,000 0
OFSXNSEH 2L XE 166,000,000 * 14 166,000
= 33,200
Al 132,800
NEAMAT A AZ (L) 6,641 6,642 |
= 1,992
Al 4,649
301 et A= 6,641 6,642 A1
= 1,992
Al 4,649
01 Al E& A 2523 6,641 6,642 A1
OXNGAAT A=A 2,213,650 » 3Y 6,641
& 1,992
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SN FH-SA(EN) - MBAY - BES
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4,649

ALBIE DY X

700

700

700

700
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70,0003 = 5% = 23]

700

700

700

= W

110,000
55,000
16,500
38,500

,000

60,000

307 21201 &

= N W

33,000
16,500

4,950
11,550

,000

18,000

02 O| D29 AF

sd XN 33,000,000& * 14

= N H

33,000

33,000
16,500

4,950
11,550

,000

18,000

402 QIZ2tXt=01 &

= W

77,000
38,500
11,550
26,950

,000

42,000

01 IZtXt=28 =
(o]
&

=4 X 77,000,000& = 14

= 0 W

77,000

77,000

38,500
11,550
26,950

,000

42,000

Al

282,000

254,000
28,000

,034

135,966

307 21201 &

o
Al

282,000

254,000
28,000

,034

135,966

282,000,000& = 14

282,000

282,000

254,000
28,000

,034

135,966

ABIEDIIY SEAE(R)

Z W

984,679
728,509

76,850
179,320

984,679

307 21201 &

o

984,679

728,509
76,850

984,679




SN AR B
3y 3322 ¥ AGAF(MII=EN/ES)
Sl 322 U MYOH (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 179,320
02 BInHFAEXS 984,679 0 984,679
OAMIAHIS S AFLIHLEH XI&
200,000,000 * 14 200,000
= 140,000
< 18,000
Al 42,000
OMEHIIY S AT2AFEAY K&
784,679,000& * 14 784,679
= 588,509
= 58,850
Al 137,320
HUX =™ (&Y - SIS/ HRL 2N 997,397 620,300 377,097
= 389,000
< 197,370
Al 411,027
Xt & ZZMHd 997,397 620, 300 377,097
= 389,000
< 197,370
Al 411,027
Ol 4 Xl oF & 22| 31,497 17,784 13,713
101 124 dl 3,775 0 3,775
04 DIt Z2XREES 3,775 0 3,775
OAHEI EIIEA 3,775
— HEI ZEIZA ZAL 212
41,6803 = 3% » 15¢ 1,876
—HEI FIIZEM EX a=2Y
41,6803 = 2% » 20¢ 1,668
—dTHEE S 3,544,000& * 6.5% 231
201 Yer2 2t 5,885 6,185 A 300
01 At 22l 5,445 5,745 A 300
OJtAoHA 2te| 1,600
—E8&H 50& * 20,0000H 1,000
—S2AEA 300& = 2,0000H 600
O0UX B 22dH 200& = 5,0000H 1,000
OFAMESHE ANEXMHHA I ¢
1,000 = 5400 & « 45 + 53] 1,080
OEAMIAZS SN EAEE FH+H
70,0003 = 5 « 23| 700
O=sMyEAS F&E
70,0003 * 6H « 23| 840
OAsg T8 AM3 15,0008 * 15 225
02 =224l 440 440 0
OM&HZ 240IstEs HIIAE=S
20,000& « 12& 240




2N
X ZH -
L= B

el

FMzdsta
MUK =S¢ F (&Y - SAIL/NEHRLIAMNL)
Xt & B3

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OM&HZ 20ISFEARI 2L (BSFEHAE)
200,000& = 14! 200
301 LBtE A= 1,837 1,599 238
11IIEEAS 1,837 1,599 238
OlgR S SEIA AlE B 1,837
— LR 2,400 * 44 * 54042 * 23] 1,037
a4 8 1,850 » 44 * 540 + 23] 800
402 RIZ2EXt20l ™ 20,000 10,000 10,000
01 RIZEAI 22X 20,000 10,000 10,000
OMBI AT HANEEX NE(Ex8 FH)
2,000,000& * 10AICH 20,000
MDA EFE 2 O X 10,000 10,000 0
402 RIZFX201 A 10,000 10,000 0
01 RIZEAI2E X 10,000 10,000 0
OMEIDJI7 HEE e JHMALE XI&
00,000 * 40Jt= * 50/100 10,000
ATHANHXIES AL (Z) 215,000 307,000 A 92,000
< 97,000
Al 118,000
402 RIZ2EX201 A 215,000 307,000 A 92,000
< 97,000
Al 118,000
01 RIZERt2E X 215,000 307,000 A 92,000
OO =100t s 22 A
1,375,000& = 4000 & 55,000
< 33,000
Al 22,000
OHYIAZINANEES ALY
20,000,000& = 8JH A 160,000
< 64,000
Al 96,000
MRIESIAAEINAE(2) 240,900 0 240,900
= 193,000
< 14,370
Al 33,530
403 UHXSHHSA=0l& 240,900 0 240,900
= 193,000
S 14,370
Al 33,530
02 S| 2SO0l CH&HCH & A H 240,900 0 240,900
ONBIESIIAAEIHE X AL
219,000& = 1,10004 & 240,900
= 193,000
< 14,370
Al 33,530




AN B4t
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E
e
OfH
B
S|
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2
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He
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VIS DYRSIFSIN=U== = Dl Fal

SN HH-S(BN) - MBAY - B dio = HlnE2
Ol & o
MNYSIHAANEME(Z) 20,000 20,000 0
< 6,000
Al 14,000
403 XSS A=0l& 20,000 20,000 0
< 6,000
Al 14,000
02 3|25 0l CHShCH 2 At & HI 20,000 20,000 0
OJNZMBSDHUIIAEIIEI| (EHOI01 =)
S AL 50,000& =* 4000 2 20,000
< 6,000
Al 14,000
HUXIELASE(Z) 200,000 0 200,000
< 80,000
Al 120,000
401 Al&HI & 28I 200,000 0 200,000
< 80,000
Al 120,000
01 A& HI 200,000 0 200,000
OO XI = & &AM AL (25 0)
100,000,000 * 14l 100,000
= 40,000
Al 60,000
OSHSAMRAHLZLMEALER
100,000,000 * 14l 100,000
< 40,000
Al 60,000
XIS X XA (=) 280,000 0 280,000
= 196,000
Al 84,000
401 A& HI L 20l 280,000 0 280,000
2 196,000
Al 84,000
01 A& HI 280,000 0 280,000
OFAANEHNASESAIY 280,000
—SFANHASSLEDEZ WA XA
200,000,000& * 14 200,000
= 140,000
Al 60,000
—AFANANE A EEZHRALEDEE WHAY
80,000,000& * 14l 80,000
= 56,000
Al 24,000
AL S /LB H) 50,238 50,739 A 501
< 19,605
Al 30,633
H & Al 50,238 50,739 A501
< 19,605




SN AR E

HE: SHZAN(LUBIYE /L)
EH2: SH XA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 30,633
SHZA L 22 8,520 11,360 AN 2,840
201 LBt Y| 8,200 8,200 0
01 AP 22| d| 8,200 8,200 0
OSAHAHE &2 & D M & 6,500
—EHHE g2t 30,000 =1508 4,500
— CD MI&t 10,000& * 20094 2,000
OA= EHZAN EBE &7
60,000 * 5044 * 43| 1,200
O SH =ANES Y 500,0008 = 14l 500
301 Bt A= 320 280 40
09 HAIAHI EAZ 320 280 40
OSHEZAIDSEAS B4
80,000 * 2 = 23| 320
KNGEHZAMY 2AXA(E) 41,718 39,379 2,339
= 19,605
Al 22,113
101 e1214| 9,364 8,779 585
o= 4,039
Al 5,325
04 J|I2ZtHIZ22NEES 9,364 8,779 585
OMSHMEAHZHMEHZ0F SEZAH 6,290
— E 22l X 49,5409 « 1 x 272 *« 80/100 1,071
& 321
Al 750
— X AbZE| X
49 ,540€ * 28 x 272 * 80/100 2,141
& 642
Al 1,499
— AKX & 22l At
45,190 ~ 19" = 272 * 80/100 977
= 293
Al 684
RNV =T
45,190 » 298 » 232 * 80/100 1,663
= 499
Al 1,164
— 4 EE 438,000& = 14 438
= 131
Al 307
OZN=Z - AFAl AFS XA} 3,074
— X A2 2| X 49,5403 * 29 x 14¢ 1,388
& 971
Al 417
— e Y ALY 45,1909 « 4% « 9 1,627
= 1,139
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B SHEIA(LUDZHE/LBHET)
S SHIZA (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
N 788
— 4 EE 58,270& = 14 59
< 43
Al 16
201 Let24d] 32,354 30,600 1,754
< 15,566
Al 16,788
01 At 22l 32,354 30,600 1,754
OMSHMEAM(ZHSAHZOF SEZA) 17,706
— ZAMA 47,2902 = 18 * 262 * 80/100 17,706
= 5,313
Al 12,393
OZ&EE - FAl AFSIZ AL 14,648
— T AMA 47,290 * 17Y = 12 9,648
< 6,753
Al 2,895
—E283 5,000& = 1,0000t+ 5,000
< 3,500
Al 1,500
HE2AZH (B MELSHA)(IIEHIIEH 100,074 97,554 2,520
Jl= &l 100,074 97,554 2,520
Jl=dl 100,074 97,554 2,520
201 Let24d] 22,674 22,674 0
01 At 22/l 22,674 22,674 0
O=AEXN 7 13,000 = 1824 « 123 2,808
OS20AH| 6,000& = 64 » 189 » 123 7,776
Oggtx=xx=g 100,000& * 128 1,200
OA7E EAFLLI 50,000& = 12& 600
OLAa2 =4&H| 9,210
— SAJI(CHE) =2l 1,000,000& * 1CH 1,000
— ZEHI =l 100,000& * 5CH * 50/100 250
— SAMI EYH 200,000& = 53 = 104 1,000
~ DRI EH(EY)
200,000& = 53 = 504 5,000
— ZEEJ EU(Zet)
200,000& = 53 = 104 1,000
—PC =¢cl 100,000& = 18CH = 20/100 360
— JIEt =2l 50,000& = 12& 600
OJIE AP 2t2lHI 5,000& = 18H » 12& 1,080
202 odl 72,000 69,480 2,520
01 =L o4 1l 72,000 69,480 2,520
OZHEdsts dRFA Kl 72,000
— 2o Yl 20,000 * 18Y 122 » 12& 51,840
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FMzdsta
HY2LZH (FHEEsA)(IIEH/IIE
Jl=23tl

SA - EY () - NSAY - B il
— 220l 80,000& = 18
203 R F=&H| 4,200
04 RFN2IEHSFAH 4,200
ORA2EIRFAHI 350,000& = 12&
204 X2 FH| 1,200
01 AMS AL LAY 1,200
OXNMB D482 (2 HE A

100,000& =




